Zadatak 18.

RjeSenje.

Graficki prikazi sljedete funkcije:

snx

~ [snx”

2) f(x)=+1-sn?2x;

3) f(x) =tg(—2x) - ctg2x.

4) f(x) = sin® \/igx + cos? ,/igX.
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1) Uvjet: sinx#0 = x#kn, ke Z;

snx e (2km, 7+ 2kn), keZ — f(x):%):: :
snx e (m+ 2km,2n + 2kn), keZ = f(x) = _S‘;.‘:X
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2) f(x) = /1 —sin2(2x) = \/cos?(2x) = | cos(2x)| ;
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3) Uvjeti:

sinx# 0 = 2x # kr, x;ék;;

COsX £ 0 — 2x £ 7 + k. x?sgﬁg;

sin(—2x) cos(2x) ~ —sin(2x) cos(2x)

f(x) =tg(—2x) - ctg2x = cos(—2x) sin(2x)  cos(2x)
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4) f (x) = sin? /f[gx + cos? ,/igx = 1 zasve x zakojeje funkcijadefinirana,
tj. zakoje vrijedi:

tgx >0 = x¢€ [kﬂ,g+kﬂ>;
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